
ŝ

$%675$.

<XOLD�0HOL]D ���������� ��$QDOLVLV�.RQWULEXVL�3DMDN�3HQHUDQJDQ�-DODQ�
7HUKDGDS�3HQGDSDWDQ�$VOL�'DHUDK �3$'� GL�.RWD�
3DGDQJ�7DKXQ����������

3HPELPELQJ ��0HJD�$VUL�=RQD��6(��0�6F

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� EHVDUQ\D� NRQWULEXVL� 3DMDN�
3HQHUDQJDQ�-DODQ� WHUKDGDS�3HQGDSDWDQ�$VOL�'DHUDK�GL�.RWD�3DGDQJ WDKXQ������
������ 3HQHOLWLDQ� LQL� EHUEHQWXN� SHQHOLWLDQ� GHVNULSWLI� \DLWX� SHQHOLWLDQ� \DQJ�
GLJXQDNDQ� XQWXN� PHQJJDPEDUNDQ� DWDX� PHQJDQDOLVLV� GDWD� 3$'� 7HNQLN�
SHQJXPSXODQ� GDWD� \DQJ GLJXQDNDQ� \DLWX� GHQJDQ�PHODNXNDQ� VWXGL� ODSDQJDQ� GDQ�
VWXGL�NHSXVWDNDDQ��6XPEHU�GDWD�\DQJ�GLJXQDNDQ�EHUDVDO�GDUL�GDWD�VHNXQGHU�\DNQL�
GDWD� \DQJ� GLSHUROHK� GDUL� VXPEHU� NHGXD� DWDX� GDWD� \DQJ� VHFDUD� WLGDN� ODQJVXQJ�
SHQHOLWL�SHUROHK�GDUL�EHUXSD�DUVLS��MXUQDO��DUWLNHO�GDQ�EXNX�EXNX�\DQJ�WHUNDLW�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� SHUNHPEDQJDQ UHDOLVDVL 3DMDN�
3HQHUDQJDQ�-DODQ�GL�.RWD�3DGDQJ�PHQJDODPL�SHQLQJNDWDQ�VHMDN�WDKXQ����������
GHQJDQ� UDWD�UDWD� WLQJNDW� SHUWXPEXKDQ� VHEHVDU� �������� 6HGDQJNDQ� NRQWULEXVL�
3DMDN�3HQHUDQJDQ�-DODQ�WHUKDGDS�3HQGDSDWDQ�$VOL�'DHUDK�GL�.RWD�3DGDQJ 7DKXQ�
��������� PHQJDODPL� IOXNWXDVL�� .RQWULEXVL� WHUWLQJJL� WHUMDGL� SDGD� WDKXQ� �����
VHEHVDU��������GDQ�NRQWULEXVL�WHUHQGDK�WHUMDGL�SDGD�WDKXQ������VHEHVDU���������
5DWD�UDWD�NRQWULEXVL�SDMDN�SHQHUDQJDQ�MDODQ VHEHVDU��������KDO�LQL�PHPEXNWLNDQ�
EDKZD� SDMDN� SHQHUDQJDQ� MDODQ� GL .RWD� 3DGDQJ� EHUGDVDUNDQ� WDEHO� � NODVLILNDVL�
FXNXS�EDLN�EHUDGD�SDGD�UHQWDQJ�SHUVHQWDVH���������������

'HQJDQ� GLODNXNDQQ\D� SHQHOLWLDQ� LQL� GLKDUDSNDQ� SHPHULQWDK� GDHUDK� GDSDW�
PHQHWDSNDQ� WDUJHW� SHQHULPDDQ�3DMDN�3HQHUDQJDQ� -DODQ�GHQJDQ�SRWHQVL� ULOO�� DJDU�
SHQHULPDDQ�3DMDN�3HQHUDQJDQ�-DODQ�ELVD�OHELK�EDLN�ODJL�VHKLQJJD�GHQJDQ�DGDQ\D�
SHQLQJNDWDQ� WDUJHW� \DQJ� GLWHWDSNDQ� NRQWULEXVL� 3DMDN� 3HQHUDQJDQ� -DODQ� PDPSX�
PHQFDSDL�NDWHJRUL�VDQJDW�EDLN�

.DWD�.XQFL ��3HQGDSDWDQ�$VOL�'DHUDK��3DMDN�3HQHUDQJDQ�-DODQ��.RQWULEXVL�
3DMDN�3HQHUDQJDQ�-DODQ


